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03 S8YRZEHI 3,600 0 3,600
ool sl 50,0003 x6H x12& 3,600
UUEBE S& UL Mo 7 155,620 0 155,620
101 @1 21| 56,520 0 56,520
04 JIZtHIZ2E2XNESE 56,520 0 56,520
OSSMUIAIEE X 42,2603 x1H %270 11,411
SAAMEHAZANE X 42,2603 x1H %270 11,411
OsJIHSEA 46,2503 *1H %210 9,713
OANMEEZHOE 42,2603 2% x240 20,285
@)= PSR g=g= 3,700
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AR g

M sYII=HE

©9l: otol BEINM 17 ECR-E)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 Lt 3,000 0 3,000
02 =224l 3,000 0 3,000
OAIE ZHl S X 3,000
-=sJIH |1 ¥ KRFH 500,000& »6CH 3,000
207 O] 96,100 0 96,100
03 Al & 11Hl 96,100 0 96,100
OANg=ZZ2el Mz 3,000& *18,000m’ 54,000
25 A 8,000& *1,200=F 9,600
OULINEAHT HZE 250,000& x65& *23| 32,500
Jlsd felds AR 78,922 0 78,922
101 @124 dl 24,422 0 24,422
4 D12t Z2XESES 24,422 0 24,422
OJB4aEs AEEXL 42,2603 18 270 11,411
Od=2=248 MEE=X 42,2603 «1H 270 11,411
OgE=RE=S 1,600
207 RO 54,500 0 54,500
03 A& &2l 54,500 0 54,500
O/AQAIE AR W= 250,000& *45F x23| 22,500
o248 N & =X 7
400,000& *40& *23] 32,000
ANAARI| BT A (241 H ) 2,000,000 0 2,000,000
= 1,000,000
< 1,000,000
401 Al HI K 201 1,000,000 0 1,000,000
= 500,000
< 500,000
01 A& tI 975,820 0 975,820
O%eIMEFD M= 586,260
- & AIE A 20,280
= 10,140
< 10,140
- A&l 565,980
& 282,990
< 282,990
ogtelHd A Jgtxd 389,560
— & A& A 15,360
& 7,680
< 7,680
— Al &4 374,200
& 187,100
< 187,100
02 Zeltl 17,520 0 17,520
O%eIMEFD M= 9,960
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2A: sgIsd
B seda N
Sl ohol BEYM o7 CERED
SA-E B (3H) - MBAY - BES ﬁlf& HDS2
= 7,980
& 4,980
OgtoltpA JIprEy 7,560
= 3,780
= 3,780
03 A& 20H Y| 6,660 6,660
OYoIHED A= 3,780
2 1,890
< 1,890
OgtoltpA JIptEy 2,880
= 1,440
& 1,440
405 XHabF SHI 1,000,000 1,000,000
2 500,000
o= 500,000
01 A&t =S F SHI 1,000,000 1,000,000
OgelAR A AIEEH 2 1,000,000
S EELA=E ,000,000% *1CH 110,000
= 55,000
= 55,000
-2 ,500,000& = 1CH 49,500
2 24,750
= 24,750
- xdds ,000,000& *2CH 22,000
= 11,000
& 11,000
- OoIFAHIOIH ,600,000& *=4CH 6,400
2 3,200
& 3,200
— & EHHE 2D ,300,000& *=2CH 6,600
) 3,300
o= 3,300
-0 A =2 D] ,500,000& = 1CH 3,500
2 1,750
== 1,750
-2AA 220 ,000,000& = 1CH 17,000
) 8,500
o= 8,500
—sZAXD ,000,000& = 1CH 121,000
2 60,500
& 60,500
-dYNs ,000,000& = 1CH 2,000
Ly 1,000
o= 1,000
-E242 M2 ,800,000& = 1CH 2,800
2 1,400
== 1,400
- NgdE A ,000,000& = 1CH 5,000
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2N
X ZH -
L= B

el

sz
sYIl=He
etel SEIMH =2

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
& 2,500
< 2,500
1= PN 3,600,000 = 1CH 3,600
= 1,800
< 1,800
— AT 33,000,000 = 1CH 33,000
& 16,500
< 16,500
-55+= MXZEX 7,200,000& = 1CH 7,200
= 3,600
< 3,600
- GC/MS 168,000,000 * 1 CH 168,000
& 84,000
< 84,000
—=SIt A= 1,700,000 104 1,700
& 850
< 850
-SCcgy 3MH 4,950,000 = 1CH 4,950
& 2,475
= 2,475
—Hot Plate 2,200,000& =1CH 2,200
= 1,100
< 1,100
—Hume Hood 3,700,000 = 1CH 3,700
& 1,850
< 1,850
— lce Maker 4,400,000 = 1CH 4,400
& 2,200
< 2,200
—pH OIE DI 1,300,000& = 1CH 1,300
& 650
< 650
-3 dsFD| 5,500,000 = 1CH 5,500
= 2,750
= 2,750
—g2s= 800, 000% = 1CH 800
& 400
< 400
-&sts0lZ 8,000, 000 *1CH 8,000
& 4,000
< 4,000
=A== 3,800,000 =3CH 11,400
& 5,700
= 5,700
- A2 2 4,400,000 = 1CH 4,400
& 2,200
< 2,200
—AgAE HFED 1,850,000 *2CH 3,700
& 1,850
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2N
X ZH -
L= B

el

sz
sYIl=He
etel SEIMH =2

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 1,850
-2 x| ,750,000& = 1CH 1,750
= 875
< 875
- =271 , 100, 000& = 1CH 12,100
& 6,050
< 6,050
—g=2asl ,000,000& =4CH 44,000
= 22,000
< 22,000
L k= ,700,000& = 1CH 2,700
& 1,350
< 1,350
= ,400,000& = 1CH 2,400
= 1,200
< 1,200
-01s8= ,800,000& *1CH 1,800
& 900
< 900
-dSe3 ,500,000& *3CH 7,500
& 3,750
= 3,750
-—=d83 ,500,000& *3CH 7,500
& 3,750
= 3,750
= ,400,000& = 1CH 2,400
= 1,200
< 1,200
=0 7| ,700,000& 1CH 3,700
& 1,850
< 1,850
-G A= ,600, 000 = 1CH 4,600
& 2,300
< 2,300
-3 =gl 900,000 = 1CH 900
& 450
< 450
-&a7| ,500, 000& = 1CH 3,500
& 1,750
= 1,750
-2 == 700,000& *=1CH 700
& 350
< 350
—Aluminum Et&J| ,800,000& = 1CH 5,800
& 2,900
= 2,900
-8l ,000, 0003 =14 27,000
& 13,500
= 13,500
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AR g

M sYII=HE

el gtol ENM o7 CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
- Ao Xs =4 | 157,000,000 = 1CH 157,000
2 78,500
= 78,500
-d20 5,000,000& = 1CH 5,000
2 2,500
& 2,500
- SgeH I 40,000,000 =1CH 40,000
2 20,000
o=t 20,000
—22|7] 5,000,000 ~1CH 5,000
2 2,500
= 2,500
- U= 28X 15,000,000 *1CH 15,000
2 7,500
= 7,500
-S20 50l 5,000,000 ~1CH 5,000
2 2,500
= 2,500
—EdlH 35,000,000 = 1CH 35,000
2 17,500
= 17,500
Jl2 &4l 175,760 0 175,760
201 et d| 27,480 0 27,480
01 AP 22| d| 27,480 0 27,480
Ogtt4f2Y| 1,330
-J|lE2x=&H| 1,330
o2dx4 24,050
- 50,0003 x1H *116L 5,800
- =2 50,0003 x1H *3652! 18,250
OF=1=1:] 2,100
AR =E=1l| 2,100
202 044 7,000 0 7,000
01 2L Y| 7,000 0 7,000
o220l 7,000
203 R F & 3,280 0 3,280
02 AAADJPALAH 2 =R H| 280 0 280
O A& &HY| 40,000 «7H 280
04 EANSIELRF=XH| 3,000 0 3,000
OgolAHAP A 250,000 x12& 3,000
204 = 2 =8 A H| 1,800 0 1,800
01 MEEZSHRSHAH| 1,800 0 1,800
OXNZ 150,000& ~12& 1,800
405 XHAHFEIEHI 136,200 0 136,200
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A sgI=&
M SHI=HE
Sl ohol BEYM o7 CERED
_ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
01 XA 2B F S| 136,200 0 136,200
o 30,000,000 =1CH 30,000
olel gz =4y 1,300,000 =7CH 9,100
OLE= 1,500,000& = 1CH 1,500
oI5 700,000 *3CH 2,100
O&X= AL 4,500,000 = 1CH 4,500
OHMIED] 600,000 = 1CH 600
OAR A & 80,000,000 x1A! 80,000
O8I 2,000,000 ~1CH 2,000
Od&n 2,600
— HZAD(100L Ol5H) 200,000 = 1CH 200
— SHZT (500L Ol &) 800,000 =3CH 2,400
OFAX 600,000& = 1CH 600
OTV 1,000,000 =2CH 2,000
ORXZ2lAl ]| 1,200,000 «1CH 1,200
sH=E)sXE 12,916,973 13,574,853 A 657,880
= 5,763,295
2 3,954,000
= 339,000
= 2,860,678
Jl=X &g =4 5,787,790 6,301,060 A 513,270
= 1,151,620
2 3,499,000
&< 1,137,170
=SHESE AM(KAIE ZH) 180,000 162,940 17,060
= 90,000
= 90,000
201 et 31,900 44,600 AN 12,700
= 15,950
& 15,950
01 AP 2t 2] H| 28,900 41,600 A 12,700
OHsHEGSSEFUE 22F 24| 10,600
= 5,300
= 5,300
ONsHELSHEDS Xz
600,000& 63| 3,600
= 1,800
= 1,800
OASAEYSTADSE LAY
200,000& x5 53| 5,000
= 2,500
= 2,500
O4-H3| & & NS WA B Xt 2,400
= 1,200
& 1,200
O=sgdg Md2dEAN s SSH| 4,200




AR g

g sgsEJ=XE

Chelr JIsX|oIet =24 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 2,100
= 2,100
ONEBLH AYNY DI(FZAS) S=|
500,000& »2H 1,000
i 500
< 500
Oozeltus S5 700,000& 3 2,100
= 1,050
< 1,050
03 A2 Z Hl 3,000 3,000 0
O4-Hal & L XS WA 1= 3,000
i 1,500
< 1,500
202 oddl 88,700 56,240 32,460
- 44,350
< 44,350
01 = LH o4 1l 30,000 32,340 A 2,340
OsZXN&EAMY &85 N& 12,000
= 6,000
< 6,000
O4-Hal & EXNXNE 4,000
= 2,000
< 2,000
OAsHEIsER EXJI=XE 4,000
= 2,000
< 2,000
OXNE=2d H2sENL(M2XN=AHRS) 10,000
- 5,000
= 5,000
04 = W&t Bl 15,800 19,000 A 3,200
OXNEZS2E oidd=(2HEH, ENEH) 15,800
= 7,900
< 7,900
05 823 WA 42,900 4,900 38,000
ONE22R AL DI(HEAS)
00,000& »x2H 600
= 300
< 300
O=sg3ddg d2oddy I= 1,800
= 900
< 900
OXNES2RE A2y Is(22ANRR)
300,000& »3H 900
= 450
< 450
O=2UBIINESES (1H/445F) 18,000
= 9,000
< 9,000

_32_




AR g

g sgsEJ=XE

Chelr JIsX|oIet =24 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O=2UIIInEsEH (29 /1EX}) 21,600
= 10,800
< 10,800
206 M= Hl 9,400 11,600 A 2,200
- 4,700
< 4,700
01 =8l 9,400 11,600 A 2,200
O4-H3l& & NE WA s sz 4,600
= 2,300
< 2,300
OFsHEEsEHU=E HaEHl 4,800
o 2,400
= 2,400
301 L2 A Z 18,000 18,500 A 500
= 9,000
< 9,000
09 HALAHIEA S 18,000 18,500 A 500
O4-H 3l & NEWAt s &It 24 6,000
= 3,000
< 3,000
OAsHESsEHuUE F2H
30,0003 *80H x5 12,000
= 6,000
< 6,000
307 glz2tol & 32,000 32,000 0
= 16,000
= 16,000
02 RIZHEANEXS 32,000 32,000 0
O8t=4-H E=22 Ui 32,000
= 16,000
< 16,000
sPEZoS X4 (XH) 676,620 658,030 18,590
= 676,620
308 KXIEHS0IA 676,620 658,030 18,590
= 676,620
01 IXNSHHBAMNEES 676,620 658,030 18,590
Osgoldzu=s 120,000
= 120,000
Osgots=d 150,000
= 150,000
OXNESFd dASMY W= 52,900
= 52,900
OXNE=SRA dE2sdigeEes N 52,320
= 52,320
OXNESFE oA 18,100
= 18,100
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AR g

g sgsEJ=XE

e Jl=XdIe =24 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

OssXNEX 484 = 10,400
= 10,400
OMEXECIHsEHAHEIH) YU 10,500
= 10,500
O8&I=Xx =X 56,400
= 56,400
OHsHE 29 L d&as X3 158,000
- 158,000
O8sg=go 33 |4 48,000
= 48,000

HNEsIIEdEE4(2E) 34,000 34,000 0
= 17,000
& 17,000

201 Bt A H| 10,000 6,000 4,000
= 5,000
& 5,000

01 At 2t2l ] 10,000 6,000 4,000
Ogbt=2H| 10,000
-das g5 29 & 10,000
= 5,000
& 5,000

202 044 24,000 24,000 0
= 12,000
& 12,000

01 2L Y| 24,000 24,000 0
OZdA=s Atg2tel & AFSEIF S XX 24,000
= 12,000
= 12,000

HESIHYYSH(XH) 368,000 528,000 160,000
= 368,000

308 AHXI S M SO0l & 368,000 528,000 A 160,000
= 368,000

01 AXHNBIMNEXZ 368,000 528,000 A 160,000
ONESIHEAS )2 AHY 320,000
= 320,000
OZdAs Alg2tel & AYEHEI X 48,000
= 48,000

NeEsgdELFI=XA 1,529,000 2,262,000 A733,000
2 1,529,000

403 XX S M S K201 A 1,529,000 2,262,000 A 733,000
2 1,529,000

01 AIXISHM A28 X 1,529,000 2,262,000 A733,000
OXNY9=d E43 At 1,329,000
2 1,329,000
OHNRAZES 22AL 200,000
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sl
P sgsEJ=sNE

CJlsXdAoe =4

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Osgasitg =2 SEIESAM AMERU
=] 2,020
& 1,010
< 1,010
405 RHoHF S HI 61,100 0 61,100
& 30,550
< 30,550
01 MM EF 61,100 0 61,100
Os&EXNE das g
-2 42,300
& 21,150
< 21,150
O=sgel u &l 18,800
= 9,400
< 9,400
NEsERNE A 1,713,000 1,950,000 A 237,000
& 1,713,000
403 XX &M S At 1,713,000 1,950,000 A 237,000
= 1,713,000
01 RtXI Sl Xt 1,713,000 1,950,000 237,000
Os&EXNE 713,000
& 713,000
OXl< &3 500,000
& 500,000
Osags 275,000
& 275,000
Os&E2AY 225,000
& 225,000
ENEAY 29 72,160 63,900 8,260
201 et 57,800 56,400 1,400
01 At 22l 57,800 56,400 1,400
Oget=&H| 54,000
- Bt A A Y (XIJJIE 1) 54,000
Ogxz 2,400
-SEUEAM s Ha It
600,000 2L »23] 2,400
o2g+¢ 1,400
-sE&ds Z A=
350,000 *43| 1,400
202 O4dl 6,000 6,000 0
04 =X 2t H 6,000 6,000 0
Odd=sY 3,000,000 24 6,000
203 YR =2t 1,500 1,500 0
03 AIMFAH S =AY 1,500 1,500 0
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AR g

g sgsEJ=XE

erel: IS XY XY (298 R)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
101 @121l 13,798 5,300 8,498
04 JI2ZtH22XNHEE =+ 13,798 5,300 8,498
Osgllsds Bx0L 42,2603 *300 x1H 12,678
ogaggz2 1,120
201 et A | 18,800 15,100 3,700
01 AFR2 22l Yl 18,800 15,100 3,700
Oget+=gH| 11,900
-sYJ|l=UE M M 700,000& x93 6,300
-sgJl=s0is HY H & 100, 000& *50H 5,000
-sg8J|l=0s 49 M 100, 0002 *60H 600
ozg=+4¢ 4,500
-SsgJI=UE 2AME 150,000& *304H 4,500
ogxts 2,400
-SgJ|l=Us SEXNHE HA A Xt
600, 000& *43] 2,400
202 4] 4,000 8,000 A 4,000
01 2LHHI 4,000 8,000 A4,000
Osgllstised 8XXE 4,000
206 M = Hl 2,000 5,562 N 3,562
01 M= bl 2,000 5,562 N 3,562
OsgllsUtis A&z 40,000& *50H 2,000
301 dEtEAZ 9,000 8,000 1,000
09 HALAHIEA S 9,000 8,000 1,000
Osgll=tie &It Bo3
20,0003 *50H *93] 9,000
HRANMSIZY Hi=sHIsLs 32,640 30, 165 2,475
201 L2 9| 21,940 22,965 N 1,025
01 At 22l Yl 21,940 22,965 A 1,025
Ogst=2H| 2,800
-ANEI} =Y Hdu=EI)=ws Wi A
& 28,000& x 100 2,800
oggs+4 15,540
-oHAAE S =Y MBI =s=uws A=20
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